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Answer any four questions

1. (a) Detail the various reactions leading to
the production of NADH from acetyl-CoA
via TCA cycle. 10

(b) Discuss the role of PFK-2 in regulation of
glycolysis. 4

2. (@) Why gluconeogenesis is not a reversal of
glycolysis? Discuss.

(b) Describe the oxidativ

€ phase of pentose
phosphate pathway, P

7
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(2)

ion so - ibe the
i oxidation so -called? De.scn'
3 dw;?;r;xsltﬂ-steps involved in B—oxld.atlon f’f
almitic acid. How many ATPs are yielded in
IE;-oxidation of a 16-C fatty acid? 2+10+2=1

4. Where does urea cycle operate in a cell?
. Describe the cycle in detail. How is urea cycle s
regulated? 149+4=1

5. Discuss any two of the following : 7x2=14‘
(a) Purine salvage pathway

(b) Biosynthesis of pyrimidine nucleotides

() Degradation of purine nucleotides

i
6. Discuss in detail tryptophan biosynthesis and
its regulation. .

14

Write notes on any two of the following :

7X2=14

(@) Glycogenolysis '

(b) Alcoholic fexmeritaiion

(c) Biosynthesis of triglycerides
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